


D V32— \/(-5)2+ V22 =3-5+2=0

@ (-2)2-(-V3)2- V52 =2-3-5=-6
2\? 9 6\ 2 3 6 1

o () +vm- (§) -3+3-2--
. 1)* 1)? 1.1 3

®vFx (3) + (-3) =2x5+5=3

® V32 Va2 \/(-5)2=3+4-5=2




= 9 Sh S T, ath O LD (W a, b AEAolth)

®-1 @1 @3 @ ® 9




4. o 2 F AFSA R A4S Totelel,

AFTE= 121, 0, 36, V16 ©]t}.
121 211 2 AlF, 020 9] AlH, 36 2 6 2] AlH, V16 22 2
Al Folct.




5.

VT5x va & F& 00] ohd 743
Sstoler

> &

> Heh: 3

Vi5x Va= VExb5x3xa

T a=3




=

o
g AL

oo
Mo

=
K3

® a>09 W, a o AFEEVa ol
@) Vi6 o ABL «2 olet,
® 1.6 o] AlFL2 0.4 ot
@ 0 o AF2L et
® a<0¥d, /(-a)=ac°lt}

B

Da>04Y ™, a2 AFTE +aolth
® 1.6 & AFL2 +V1.6 °]
@ 0 o] AlELZ 0ol
®a<0¥d, \/(-a)? =-aolt}




7.

@®)3a + 5b ® 5a-5b
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